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B [ FHZRISRADBENIE T X JEEENGRNIEERLTVET,
B EZISRONERENIADFEERE BAPEHESNIDIGEICIEN * IERRLTULET,
ARIRFFARERTES

A — j — 1% ik 3 1% 5
JEHT = 80 81 74 %1 %1 %1
JBETE= 80 80 68 X X 1 X
%M@ = 62 81 82 * %1 %1
B - 79 69 %2 %3 %2
HAE= = 67 81 82 75 * %1
3] ) 80 %1 81 82 x %1 %2
EBETE= - 81 82 * %2 %2
ERAEE= 80 80 82 * * % %2
=1 80 80 81 82 84 * %2
RN 74 74 81 * %2 %3 %1
RAEE= %3 %6 76 80 %2 x %3
RNEE= 80 80 81 82 x x X
S S 65 80 81 82 * * x
KRR 77 77 81 82 * * x
FAEEA 80 80 81 x x * %2
RHEEE %3 77 81 82 * X x
FAEEIN 80 80 81 x * x X
REER 64 66 81 82 %2 %2 *
HREE+ 80 80 82 * X X *
RO EE+— 54 %2 67 * 76 %3 %1
(1) = %1 81 82 X * x
JLETE= 80 80 81 x 84 X %1
THa - 80 81 X 84 X X
K& - 50LLF 81 82 81 70 %2
KinaE= 50 F 80 81 82 * X x
2x %1 80 81 * * X %2
(F)IVEN 80 82 82 %1 X 51
FRRBFHDD - 80 81 X 81 * X
(Fh )RR AT = %6 * 82 %1 %2 %3
(Rh)EEIL - %1 81 82 * x X
G DIl 80 81 82 * x *
F)FE7VIvV] 80 82 * * X X
() RzRyEK)IIE 80 81 X x x x
k- 80 81 82 82 x %3
() LA R 80 81 82 * x &1
() KEXBENEE 80 81 82 82 *
() [CCLA RIS 80 81 82 75 x
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wEEA — 1% 28k 3%k 4% 3
Wt
(B [CCLBKIE 80 81 82 82 X X
(F8) B O 80 81 x 82 x x
() PYITUDE 80 81 * 84 x x
() [CLLAEEER 80 81 82 84 X X
(%) PV YTV HILET 80 81 * x x 21
(Fh) RAREDINE 80 81 82 84 X X
B g Uero% 77 81 62 - - -
(%A) & BLICLET %1 81 * 73 %2 %3
(FR) BBLCREER 76 81 * 84 %2 %1
(R ATOREEZB A %1 81 X %3 %3 %4
(Fh) SBEH BLVER %1 81 X %7 %2 ®14
(F4) [CULB K& BRET 80 82 82 82 x -
(B0 FBUOKRTEHA 80 81 x 81 x 80
(Fh) BBLCERA %1 81 * 69 * -
B (R &<BE BB JBET %3 69 %2 17
7 (FA) & BUCEI 71 81 79 %
() ABOF FHa 80 81 80 %4




